




















32. Let the present age of girl be x years and the present age of her sister be y years

According to first condition

x =3y +3

or x-3 =3 ..(0)
Three year hence, age of girl be (x + 3) years

Age of her sister be (y + 3) years

According to second condition

x+3=2y+3) +10
= x+3=2%4+6+10
= x-2 =13 ..(i0)
On solving equation (i) and (ii), we get
x =33,y =10
Age of the girl = 33 years
Age of her sister = 10 years
OR

Let one’s digit be x and ten’s digit be y.
Two-digit number = 10y + x

According to first condition

or 10y +x =6(x +y) + 4
or W0y +x =6x + 6y + 4
dy —-5x =4 (1)

According to second condition
10y +x-18 = 1x + y
or O — 9% = 18 ..(ii)

On solving equation (i) and (ii) we getx = 4,y = 6

So number = 10y + x
=10x6+4
= 64
33. Given: In AABC and PQR, AD and PS are median respectively.
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34.

To prove:

AABC ~ APQR

Construction: Extend AD to point E such that AD = DE and join BE.
In APQS extend PS to point T such, that PS = ST join QT.

Proof: In ABDE and AADC
BD
ZADC
AD
ABDE
BE
Similarly AQST
So, QT
AB
PQ
AB
PQ
AB
PQ
AABE
Z/BAD
Z/DAC
Z/BAD + «ZDAC

/BAC

AB

AC

= AABC

Volume of remaining solid

Now,

Similarly

on adding

Surface area of remaining solid

DC
ZBDE
DE
ACDA
AC
ARSP

RP

AC AD
PR PS
BE 2AD
QT  2PS
BE AE
OT PT
APQT
ZQPS
Z/SPR
ZQPS + ZSPR
ZQPR

QP

PR

APQR

Volume of cube — volume of cone
73 - l wh
3

73—§x%x3x3x7

343 - 66
277 cm?®

(D is the mid point)
(Vertically opposite angles)

(From construction)

(By CPCT) ...(i)

(By CPCT)...(ii)
(Given)
[From (i) and (ii)]

(Since AD = DE, PS = ST)

area of 6 faces of cube + CSA of cone — area of base of cone

68> + ml —

.. (i)

(6x72+2—72x3x/§—%x9)cm2 [ =Vh?+r=V72+3*=/58 cm]

7

—

294+%«/5_—%)cm2
(1860 — 66v/58 ) cm”

(310 -11+/58) cm®
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OR

When revolved about the side 4 cm

3cm, h =4 cm
1

Volume V, = gnrzh

r

1 x3tx4
3
When revolved about the side 3 cm

4cm,h=3cm

~
I

Volume V, = %an42><3
1 2
E 5)(75)(3 x4 s 5cm
v %an42x3 o 3 om
CSA in first case
S, = mwl (1=v32142=5) -
cm

=g X3X5=15¢n
CSA in second case
S, =nXx4Xx5

= 20n
Difference = 20 — 15n
= 5n
=5x3.14
= 15.70 cm®
35. Age (in years) Group A Group B
16 - 18 50 54
18-20 78 89
20-22 46 40
22-24 28 25
24 - 26 23 17
For group A modal class 18 — 20
=18, f =78, f = 50,f, = 46
fi=fh)xh
Mode = [+ (170)
h=h-5
78 - 50
- 18+(156—50—46)><2
_ 18+ 28 %2
60
= 18 + 0.933
= 18.933
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For group B modal class 18 — 20

1=18,f =289, f,=54,f, =40

(89 -54)x2
178 — 54 — 40
35%x2

Mode = 18 +

18 + = 18 + 0.833

18.833
Modal age of group B 0.1 year less than the age of group A.
36. (@) P(2, 4), Q4, 6), R(6, 4), S(4, 2)
(ii) PQ = J(4-2P+(6-47
= m =2v/2 units

Length of side of garden is 2+/2 units.

(iii) Area of the floor excluding the garden = area of floor — area of garden

= 8- (2/2)
= 64-8
= 56 units’
OR
214 442
Mid point of PS, (T) = (% %) =3,3

QT = /(4-3P+(6-37 = ¥17+3% =10 units

RT = /(632 +(4-37 = v3*+12 = /10 units.
37. (i) Money deposited every day will form an AP as follows 5, 7, 9, 11...
Here,a =5, d=7-5=2
Money deposited on 10th day, a,, =a + 94 =5 + 9 X 2 =3 23
(i) a, =a+ (n-1)d

Money deposited on nth day=3 5 + (n — 1)32
=X5+3(2n-2)

=3 (2n + 3)
(iii) Total amount deposited in 10 days
Sy =X %[2x5+9x2]
=T 5(10 + 18)
= 3140
OR
= 1440

= g[Za +(n—1)d]

= 1440 = g[lO+(n—1)2]
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38.

@)

(it)

(iif)

= 2880 = 10n + 2n* - 2n
= 2880 = 2n* + 8n
= n® + 4n - 1440 = 0
= (n +40) (n-36) =0
= n = —40 (rejected), 36
n = 36
So, to collect I 1440, he has to deposit money for 36 days.
A A
Qutb minar
45°
C(Student) B
2m
\J
E F
<«<— 71m >
In AABC, tan 45° = AB
BC
AB
= 1 =—
71
= AB =71 m

Height of Qutb minar = 7Im + 2m = 73 m

Let student travelled x m.

In AADB, tan 30° = @
BD
. 17
/3 71+ x
- T +x=71/3
= x = 71(/5_1)

71 x 0.73 = 51.83 m

So student moves 51.83 m away from Qutb minar.

OR
In AABC
tan 45° = ﬁ
BC
| = 70.4
BC
BC = 704 m

Distance of platform from Qutb minar is 70.4m.
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